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1/2 - Inverse Functions
{(_2,1),(4, -3),(-6, —5)} original function
{(1,—2),(—3,4),(—5,—6)} inverse function
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Write an equation for the inverse of the relation.

Al A y=3x-3
K—Y=- ._5_2‘\‘5_:%
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Sketch the function and its inverse on the same graph.
Is the inverse a function of x?

f(x)=x+4 - y?is' L
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Sketch the graph of the function. Use that graph to tell
Iif the graph of its inverse will be a function.

£ (x)=|x+2]+1 g
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Verify that the 2 functions are inverses of each other.

Method 71 - Find individual inverses.

f(X)sz—l g(x):—é.x-ké
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Method 2 - Find both composite functions.

f(x)=2x-1 g(x)= %x+%
’q’(%&) 3(»@(*}):
= 2(z+) -\ - 'Iz(lv—l +
= %t (- | - %o er
4= % 2
4= %




HOMEWORK
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